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QUESTION 1

A vRealize Automation Tenant Administrator has identified a tenant virtual machine with low CPU and memory
utilization. The owner has been given 5 days to respond to the reclamation request. The new virtual machine lease is
set to 1 day and the blueprint used to build the virtual machine has an archive period of 7 days. 

How many days will elapse before the virtual machine is destroyed and the user fails to respond? 

A. 5 

B. 12 

C. 13 

D. 6 

Correct Answer: D 

 

QUESTION 2

A user is able to remove virtual machines from their Items tab but the user is unable to remove an entire deployment. 

What would explain this behavior? 

A. The user has had their entitlement to the deployment removed. 

B. The user is missing the Destroy Deployment action on their entitlement. 

C. The lease to the deployment has expired. 

D. The user is missing the Destroy Deployment action on their service. 

Correct Answer: B 

 

QUESTION 3

Which are two accepted uses for vRealize Orchestrator workflows? (Choose two.) 

A. Add a vRealize Automation Azure Endpoint. 

B. Automate vRealize Automation using REST 

C. Day 2 Operations in vRealize Automation 

D. Automate vRealize Automation using RabbitMQ 

Correct Answer: AB 

 

QUESTION 4
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Which are two valid scenarios related to vRealize Automation Extensibility Lifecycles? (Choose two.) 

A. All properties must be specified. 

B. In Extensibility Lifecycle, the virtual machine properties are passed to subscription workflows by default. 

C. The current value will pass all properties. 

D. Virtual machine properties are passed to subscription workflows by using the property Extensibility. Lifecycle
Properties. VMPSMasterWorkflow32. BuildingMachine. 

Correct Answer: CD 

 

QUESTION 5

Which two statements must be true for a functional vSphere Endpoint in vRealize Automation? (Choose two.) 

A. A vSphere proxy agent must be installed. 

B. The vSphere Plug-In must be installed in vRealize Orchestrator. 

C. A vRealize Automation Plug-In must be installed and configured 

D. The endpoint name in vRA must match the endpoint name provided to the vSpere proxy agent. 

Correct Answer: AD 

Reference: https://pubs.vmware.com/vCAC-60/index.jsp?topic=%2Fcom.vmware.vcac.iaas.all.doc%
2FGUID-3051E04E-C809-4E29-A3BF-51053BB2D7BC.html 
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